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/ through a 3-ph transformer rated at 25 MVA, 13.8/6.9 kV, X=10 % to a
5

)29 1) a3 F )il : 0 M Ny cpud)
) a-A 25 MVA, 13.8 kV 3-ph generator with X =15 % is connected

busbar which supplies two identical 3-ph nTEiBrs, Mq@s
rated at 5 MVA, 6.9 kV and X'=20 % .The motors are drawing rated power
at 0.8 pf lagging when a balanced 3-ph fault occur at the busbar of the
motors. By using thevenin's Theorem evaluate the contribution of the
generator and motors (taking into account the load) to fault current and
using Base Quantities of 25 MVA and 13.8 kV. [15]
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b-When a balgf'lcse? 3-ph fault occur on busbar number@fof a 4-bus 95

a . —
system, the fault current and the bus veituges during the fault were as §t 64
follows: I = -j4.357, V,=0.156, \/4=0.349, V, =0.344 .

Evaluate the corresponding column of the Z,,, matrix. [10]
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Q3) The line currents flowing to the Y-side of 10 MVA, 66 Y/13.2 AkV
transformer are: 1,100 /0°, 1,=141.4 /225°, 1.=100 {90”.

By using the concept of symmetrical components in py, evaluate the

currents flowing in the lines from the A-side. DO

T use the concept of

turns ratio. i § = ¥ gzl 15
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b-A single-line-to ground fault occur at a point Q in a given power

system. The fault current I= -j2.42. If the corresponding equivalent
sequence impedances in pu were as follows: 2,=j0.5, Z,=j0.5, Z,=)0.24
evaluate phase voltages at point Q [10]
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